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EEISH 86, 930, 075
97, 957,919 11,027, 844
EBRHER 86, 930, 075
97, 957,919 11,027, 844
EERET 3,780, 167
12, 802, 755 9,022, 588
#EHIT 585, 387
2,059, 498 1,474,111
Al 585, 387
2,059, 498 1,474,111
1 #EAI(1) F—Frhv b 1,892. 00 307. 4 581, 600
m3 1,810. 00 307. 4 556, 394 25, 206
2 ERI(2) )] 4.00 946.8 3,787
m3 5. 00 946. 8 4,734 947
132 #E&1(3) F—ToAvEk 0.00 0 0
m3 24.00 1,643 39, 432 39, 432
133 BEHORRF: 0. 00 0 0
m3 22.00 66, 069 1,453,518 1,453,518
134 & (b-2) F=ds 0.00 0 0
m3 22.00 246. 4 5,420 5,420
BT 2,977, 355
2,198, 366 -778, 989
BERET 705, 455
618, 752 -86, 703
3 HRREL (1) 2.5m=Ri 19. 00 4,537 86, 203
m3 1.00 4,537 4,537 -81, 666
4 BERET (2) 2.5mElE4. Om%k i
m3 544. 00 763. 6 415, 398
5 BREREL (3) 4.0mLlE 688. 00 296. 3 203, 854
m3 671.00 296.3 198,817 -5,037
BRiAELT 1,412,142
1,385, 364 26,778
6 BRiARLT (1) 2.5m=Ri 306. 00 4, 463 1,365, 678
m3 300. 00 4,463 1,338,900 26,778
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m3 64. 00 726 46, 464

TPt 223,150
124, 964 -98, 186

8 tPL 50. 00 4, 463 223,150
m3 28.00 4, 463 124, 964 -98, 186

TRYEER 636, 608
69, 286 -567, 322

9 TRYEER BRER 1, 856. 00 343 636, 608
m3 202. 00 343 69, 286 -567, 322

EEERT 134, 687
109, 201 -25, 486

HREER (G115) 39, 501
50, 992 11, 491

10 EEER 55. 00 718.2 39, 501
m2 71.00 718.2 50, 992 11, 491

SEEER (L) 95, 186
58, 209 -36, 977

11 EEmER 260. 00 366. 1 95, 186
m2 159. 00 366. 1 58, 209 -36, 977

HLINET 82,738
8, 435, 690 , 352, 952

TRYEER 78, 234
3,329, 960 , 251,726

12 TH%ER 16 T A ~ IR 3% 39. 00 2,006 78,234
m3 1, 660. 00 2,006 3,329, 960 , 251,726

=i 4,504
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13 it BRIz AnthcounsE 39. 00 115.5 4,504
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EEL 216, 824
846, 249 629, 425
HEET 161, 020
0 -161, 020
ELwt 99, 660
0 -99, 660
14 Bxwest 55. 00 1,812 99, 660
m2 0.00 1,812 0 -99, 660
EFEH 61,360
0 -61, 360
15 fEFHEfh 260. 00 236 61,360
m2 0.00 236 0 -61, 360
BHEIVHY-f 55, 804
846, 249 790, 445
58 Yavyy-+ 55, 804
846, 249 790, 445
16 BT
m2 3.00 4, 488 13, 464
17 9)-MTE&RT 18-8-40 (FF) W/C=#8% 7% L t =10cm 20. 00 2,044 40, 880
m2 237.00 2,044 484, 428 443,548
18 &#ET 20.00 73 1, 460
m2 237.00 73 17, 301 15, 841
136 V9Y-MTHRT 18-8-40 (J¥F) W/C=#8%E 74 L t =bcm 0.00 0 0
m2 228. 00 1,379 314, 412 314, 412
137 &#ET 0.00 0 0
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BEEET 9,269, 987
9, 004, 750 -265, 237
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EPIEY T 7,750, 950
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20 2EE AR 9. 00 33, 840 304, 560
m3 6. 00 33,840 203, 040 -101, 520
21 3EE AR 79. 00 38,610 3,050, 190
m3 63. 00 38,610 2,432,430 -617, 760
22 A5 EHAHERE
m3 47.00 38,610 1,814,670
23 b5 EHAfERE
m3 37.00 38,610 1,428,570
24 AREEHHE b175
m 13.00 560 7,280
25 BT D345 D13
t 0.10 152, 800 15, 280
RihfalgERE T 0
99, 976 99, 976
138 2v9Y-+ 18-8-40 (F4F) W/C=60%LLF 0.00 0 0
m3 2.00 22, 200 44, 400 44, 400
139 Zi: 0.00 0 0
m2 8.00 6,947 55, 576 55,576
eELT 1,519,037
1,873,104 354, 067
RiEY 596, 632
536, 605 -60, 027
26 KRiEY INR#E 328. 00 1,819 596, 632
m3 295. 00 1,819 536, 605 -60, 027
#BRL 502, 437
457,842 -44, 595
27T BRL INR#E 169. 00 2,973 502, 437
m3 154. 00 2,973 457,842 -44, 595
THEER 403, 683
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29 Bt BEIRAnTOME 141.00 115.5 16, 285
m3 295. 00 115.5 34,072 17,781
BKBEMT 13,323, 665
19, 904, 022 6, 580, 357
flET 9,320, 205
11,174, 370 1,854, 165
LEMAIE 83, 649
79,137 -4,512
30 avyy-+ 18-8-40 (Z4F) W/C=60%LLTF
m3 1.00 22,200 22,200
31 B
m2 3.00 6, 947 20, 841
32 SEEHERT 0Y) 180/230 x 250 x 600 9.00 4,512 40, 608
m 8.00 4,512 36, 096 -4,512
EREME 3,822, 800
4,145,030 322,230
33 EREBAE (1) 3002 (FZHEET) 206. 00 13, 540 2,789, 240
m 69. 00 12,590 868, 710 -1, 920, 530
34 EERAE (2) 3002 (HEKZEER) 22.00 22,060 485, 320
m 8.00 21,010 168, 080 =317, 240
35 EREMEE (3) 3002 (RbIEER) 22.00 24,920 548, 240
m 8.00 22, 860 182, 880 -365, 360
140 ERBEE (4) 400%! (FZ#ER) 0.00 0 0
m 142.00 15,570 2,210, 940 2,210, 940
141 ERBAE (5) 4008 (&KZEER) 0.00 0 0
m 14.00 24,090 337, 260 337, 260
142 ERBEE (6) 400%! (RbiEER) 0.00 0 0
m 14.00 26, 940 377,160 377,160
7" U¥vANUELNEE 3,182, 646
4,515, 485 1,332, 839
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BB AEHE 1,835, 140
1,992, 500 157, 360
37 BEEDEAE (1) HEWTA 300 x 800
m 2.00 15, 820 31, 640
38 BEAEMEE (2) HEWTA 300 x 900
m 12.00 16, 980 203, 760
39 BEEAEMEIE (3) #HEtwTA 300 x 1000
m 14.00 18, 680 261, 520
40 BEIEAEE (4) #HEtwTA  300x 1100
m 8.00 22,950 183, 600
41 BEIERAE (5) HEWTA 400 x 500 20.00 12,710 254, 200
m 20. 00 12,720 254, 400 200
42 BEDIERAE (6) it 400 x 600
m 6.00 13, 260 79, 560
43 BHAERAEE (7) #iwrA 400 x 700 6.00 14, 440 86, 640
m 10. 00 14, 440 144, 400 57,760
44 BEIEREE (8) it 400 x 800
m 6.00 16, 140 96, 840
45 BEIEEE (9) HEWTA 400 x 900
m 12.00 18, 440 221, 280
46 BEHDIEREE (10) HEtwT A 400 x 1000
m 6.00 19,610 117, 660
47 BEHBEEE (11) HEtwTA  400x 1100
m 8.00 24, 470 195, 760
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144 BEBEREE (13) HEWTA 400 x 400 0. 00 0 0
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" 29.00 2,127 61, 683
50 ZEhR (2) av9Y)-1+2400H 54. 00 2,687 145, 098
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1,235, 840 -93, 240
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m 52. 00 20, 180 1,049, 360
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882, 880 101, 440
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55 HATT B &AKH (1) 500x 500 600 Z# L
& 2.00 39,130 78, 260
56 AT S &AM (2) 500 x 500X 600 T-25. T-2
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m3 12.00 115.5 1,386 -462

METL 48,417,834
42,996, 856 -5,420,978

TAITMMEHET (REmED) 17, 684, 755
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150 S&EEH > — &%k NUHSE 0.00 0 0
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R—=Sq4vavyy—+ 0
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m3 53.00 18, 140 961, 420 961, 420
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m2 ,022.00 668. 7 683, 411 14, 711
W=kt 611, 207
625,016 13, 809
86 LFEEREE HEFHERE M40 t=10cm ,018.00 600. 4 611, 207
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=& 1,803, 896
1,844, 652 40, 756
87 k= BAETHNEASESY(3)  t=bcm .018.00 1,772 1,803, 896
m2 ,041.00 1,772 1,844, 652 40, 756
TAITMMEET (BE - —ARE) 2,610, 635
2,718, 622 107, 987
R 848, 007
946, 222 98, 215
88 pRAE BHE)799432 RC-40 t=10cm .062. 00 798.5 848, 007
m2 ,185.00 798.5 946, 222 98, 215
=& 1,762, 628
1,772, 400 9,772
89 XJE BEBZNMEASEEY(3)  t=4cm 127.00 1,564 1,762, 628
m2 ,200. 00 1,471 1,772, 400 9,772
TAITMMEET (BE - fERE) 893, 227
884,614 -8, 613
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79, 051
90 BEDTyvr5y RC-40 t=10cm
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TAIIWVMAZET (FiE - FAER) 62, 484
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TIE R 16,119
59, 736 43,617
93 TrEmRE BHE)399430 RC-40 t=15cm 17.00 048. 9 16,119
m2 63. 00 948. 2 59, 736 43,617
LIERE 14,915
55, 276 40, 361
94 tREERE HEHERE M40 t=10cm 17.00 877.4 14,915
m2 63. 00 871.4 55, 276 40, 361
=E 31, 450
109, 683 78, 233
9% xfE BAETHNEASESY(3)  t=bcm 17.00 1,850 31, 450
m2 63. 00 1,741 109, 683 78, 233
AATRAITMMEET (B8 - —RE) 0
617,039 617,039
PR A 0
123, 767 123, 767
155 B BEY79943v RC-40 t=10cm 0.00 0 0
m2 155. 00 798.5 123, 767 123, 767
®E 0
493, 272 493, 272
156 =B BAEBHNEASESY(3)  t=4cm 0.00 0 0
m2 248.00 1,989 493, 272 493, 272
BEWEBEL 3,353, 985
1,353, 751 -2, 000, 234
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EEMEELT 1,699, 631
813,778 -885, 853

SHAE kR T 22,833
171,019 148, 186

96 fHEEhRLIER (1) t=4cm 45. 00 507.4 22,833
m 33.00 507.4 16, 744 -6, 089

157 SHERRTIER (2) t=30cm 0.00 0 0
m 121.00 1,275 154, 275 154, 275

SHAE AR 1,047, 334
151,217 -896, 117

97 SHERRFERE (1) t=4cm 2,054.00 509. 9 1,047,334
m?2 208. 00 509. 9 106, 059 -941, 275

158 SHERRBER: (2) £=30cm 0.00 0 0
m?2 63. 00 716.8 45,158 45, 158

WH-MEEYEE L (85) 412, 360
428,220 15, 860

98 EEMEYIDhL SEREEY 26. 00 15, 860 412, 360
m3 27.00 15, 860 428, 220 15, 860

WH-MEEYEEL (EH) 217,104
63, 322 -153, 782

99 EEHMEYIDhL EFEEY 24.00 9,046 217,104
m3 7.00 9,046 63, 322 -153, 782

EifNET 1, 654, 354
539, 973 -1, 114, 381

B (SRR 928, 800
258, 000 -670, 800

100 3%EHk LB~ NEER (SRR 288. 00 3,225 928, 800
m3 80. 00 3,225 258, 000 -670, 800

B (B 51,714
53,703 1,989

101 3REHR ISR ~NERES (B 26.00 1,989 51,714
m3 27.00 1,989 53,703 1,989

B (EE) 38, 640
11,270 -217, 370
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102 5%5E K ISR ~A0ERES (B 24.00 1,610 38, 640
m3 7.00 1,610 11,270 =21, 310
AL [TA77005E (FEAD ] 540, 000
150, 400 -389, 600
103 5 & TAI7MR (HEED 675. 00 800 540, 000
t 188. 00 800 150, 400 -389, 600
BAs [109)-b5% (BER) ] 52, 000
54,000 2,000
104 5 & wWh-tsk (B/) 26.00 2,000 52,000
m3 27.00 2,000 54,000 2,000
BAs [209)-bk (EERR) ] 43,200
12, 600 -30, 600
105 5 & Wh)-heR (AR 24.00 1,800 43, 200
m3 7.00 1,800 12, 600 -30, 600
FhEEM T 4,600, 213
6,527,725 1,927,512
ER BB AR T 3, 153, 368
4, 858, 750 1,705, 382
= b
776, 568
106 BHEEMERET (b -V L-VRETI) (1 229 )— FEiA
)
m 66. 00 9,948 656, 568
107 BHEEMERBEI (b -1 L-IEREBI) (2 | kdEd
)
m 10. 00 12,000 120, 000
h =47 2,376, 800
2, 366, 000 -10, 800
108 FHEEMERET (B -F 47" % avy ) —rER 41. 00 12, 000 492, 000
1)
( m 130. 00 12,000 1,560, 000 1,068, 000
109 FHEEMERET (h -F ' 47°F T A 152. 00 12, 400 1,884, 800
2)
( m 65. 00 12, 400 806, 000 -1, 078, 800
E#oovy 0
, 116,182 1,716, 182
159 7 ny)s%E 0.00 0 0
m 86. 00 4,037 347,182 347,182
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160 £ IOy o & L=2000, B=400 0.00 0 0
= 1.00 1, 369, 000 1, 369, 000 1,369, 000
fEELT 0
235, 808 235, 808
RIEY 0
69, 122 69, 122
161 ERIEY INRE 0.00 0 0
m3 38.00 1,819 69, 122 69, 122
ERL 0
59, 460 59, 460
162 R L INRE 0.00 0 0
m3 20. 00 2,973 59, 460 59, 460
TREERR 0
103, 068 103, 068
163 LRYEEK T &AT ~ NIEREE 0.00 0 0
m3 36. 00 2, 863 103, 068 103, 068
it 0
4,158 4,158
164 i BigZAntiTcou®E 0.00 0 0
m3 36. 00 115.5 4,158 4,158
By AT 1,045, 612
1,031,934 -13, 678
L& LR 1,045, 612
1,031,934 -13, 678
110 FHEEMR (BR%BALEM) RET (1) avy ) —rER 5400 8,253 445, 662
m 68. 00 8, 253 561, 204 115, 542
111 BHFEMR (BR% B SRET (2) ThEA 65. 00 9,230 599, 950
m 51.00 9, 230 470, 730 =129, 220
ERAEYT
401, 233
F
401, 233
12 FRZFET
m 43.00 9, 331 401, 233
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BEIL 2,348, 450
2,456, 796 108, 346
BAETL 2,348, 450
2,456, 796 108, 346
SEBEERT 0y 2. 348, 450
2,374,221 25,711
13 SEEERT 1) (1) AR B 344.00 4,963 1,707,272
m 337.00 4,963 1,672,531 =34, 7141
114 SEEERT 1y (2) BE LI 10. 00 5,796 57,960
m 12.00 5, 796 69, 552 11,592
115 SEEHER 09) (3) CE EWmEANE 9. 00 4,892 44,028
m 19.00 4,892 92,948 48, 920
116 SEBEHERI 1v) (4) DE! HITEBEHEIEMTER
m 33.00 4,892 161, 436
17 SEEHFRI 1y) (5) ER  SHiEiRER
m 78.00 4,843 371,754
BRI nv) 0
82,575 82,575
165 HuSEHFRI 0y) 120 x 120 0. 00 0 0
m 25.00 3,303 82,575 82,575
XE#RT 579,710
565, 094 -14,616
XE#RT 579,710
565, 094 -14,616
BRAXER 579,710
565, 094 -14,616
118 RE#HRHZE (1) £ W=15cm BE 1,807.00 252 455, 364
m 1, 749. 00 252 440, 748 -14,616
119 RERFHE (2) =48 W=45cm BHE
m 61.00 586 35, 746
120 RERFZE (3) iR W=15cm HBHE
m 130. 00 268 34, 840
121 RERZE (4) XH -5 B&
m 96. 00 560 53, 760
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BERRE

SHBEEFAEBR(CYERRK)ERIFZER)

£ 5 g - BAKTE Bify 2 i & % i

T 487, 240
899, 921 412, 681

RS BEREL 71,428
138, 282 66, 854

WH-MEEMEE L (EfH) 45,230
90, 460 45, 230

122 #EHMEY ZHL EHBEY 5.00 9,046 45,230
m3 10. 00 9, 046 90, 460 45, 230

AIEM () 8, 050
16, 100 8, 050

123 3REHK ISR ~NERES (B 5.00 1,610 8, 050
m3 10. 00 1,610 16, 100 8, 050

BAs [209)-bk (EERR) ] 9, 000
18, 000 9,000

124 o & Wh)-haR (AR 5.00 1,800 9, 000
m3 10. 00 1,800 18, 000 9,000

ERMEE 9,148
13,722 4,574

125 E#HEE INRAR 4.00 2,287 9,148
m3 6.00 2,287 13,722 4,574

FROMEEIET 415, 812
234,160 -181, 652

WY)-MTE 415, 812
234,160 -181, 652

126 2v9Y-+ 18-8-40 (F4F) W/C=60%LLF 5 00 18,140 90, 700
m3 1.00 18, 140 18, 140 =72, 560

127 2 27.00 7,771 209, 817
m2 00 1,71 0 =209, 817

128 MRz R 00 10,370 82,960
m2 00 10, 370 0 -82, 960

166 HEHEBEHER7 0v) ERY 00 0 0
m 40. 00 4,843 193, 720 193, 720

129 EHRA BHE)799472 RC-40 t=10cm 2900 1,115 32,335
m2 20. 00 1,115 22, 300 -10, 035
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BRHERRE SHIEEFFEELYBHR)ERTEER
£ R R - KT Bifr = fifl & % 18

RE RHRL 0
527, 479 527, 419

A E 0
33,480 33,480

167 RATEE & B iEE (FEP) Bhak FEP  30mm 0. 00 0 0
m 93.00 360 33,480 33,480

BERNECHR 0
144, 670 144, 670

168 7-7" VR O EBARELHR (1) CV3. 5sg-2C 0.00 0 0
m 93.00 1,133 105, 369 105, 369

169 77" VR UVERELR (2) 1V3. 5sq 0.00 0 0
m 93.00 247 22,971 22,971

170 77" W R UV ERERIEH H & 0.00 0 0
= 1.00 16, 330 16, 330 16, 330

BT MERER 0
19, 586 19, 586

171 HERAR Y- MR 0.00 0 0
m 93.00 82 7,626 7,626

172 1BEAZHY-+ W=150 2% 0.00 0 0
* 2.00 5,980 11,960 11, 960

XTI (BEXR) 0
85,111 85,111

173 KiEY INRAR 0.00 0 0
m3 13.00 1,819 23, 647 23, 647

174 2R L INRAR 0.00 0 0
m3 13.00 2,973 38, 649 38, 649

175 t## REER 0.00 0 0
m3 4.00 3,470 13, 880 13, 880

176 L RYEEE L& AT ~ NIERfEE 0.00 0 0
m3 3.00 2, 863 8,589 8, 589

177 i RiZitAntToONE 0.00 0 0
m3 3.00 115.5 346 346

SLAREBESRE 0
244, 632 244, 632
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BEERRE HHSEEFT EB(LYBHKEBIEEE)
% [ BE - kHE B 2 i ® #8 m =
178 EBEHEAIR UM (708 Jh3L52 & 600 x 2000 0. 00 0 0
# 4.00 6, 663 26, 652 26, 652
179 2N 4505 H 411 & ¢ 600mm, t=0. 6mm 0.00 0 0
m 8.00 2,320 18, 560 18, 560
180 EHERA BEY79943v RC-40 t=10cm 0.00 0 0
m?2 1.10 1,115 1,226 1,226
181 2v9y-+ 18-8-40 (F4F) W/C=60%LLF 0.00 0 0
m3 2.30 22,200 51,060 51, 060
182 7Uh-K W& 4-M24x600 FB65x6.0t F v bk -EEED 0.00 0 0
= 1.00 120, 000 120, 000 120, 000
183 HEEMERE DiE i 0. 00 0 0
1B 4.00 5,150 20, 600 20, 600
184 #ihiiH & 0. 00 0 0
= 1.00 6,534 6,534 6,534
T 552, 000
600, 000 48,000
RBEET 552, 000
600, 000 48,000
XBFEERE 552, 000
600, 000 48,000
130 XRBFBERES 46. 00 12, 000 552, 000
AB 50. 00 12,000 600, 000 48,000
HBRHEE L 100, 000
3,818, 420 3,718,420
B R ER 100, 000
3,818, 420 3,718,420
HBREEE 100, 000
3,818, 420 3,718,420
BirEEE 100, 000
3,498, 420 3,398, 420
RiTEE
100, 000
131 RiffEEE EREDRREER
= 1.00 100, 000 100, 000
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BEANRE SHBEERS EE(EYEMRK)ERTEEE)
2 o] B - AR Bif i & #© % =

B AR 0
25, 420 25,420

185 R A 0.00 0 0
= 1.00 25, 420 25, 420 25,420

VATLRI A E 0
623, 000 623, 000

186 YATL#IEAE 0.00 0 0
= 1.00 623, 000 623, 000 623, 000

SRTETHE SRTRHT SOERER 0
2, 750, 000 2, 750, 000

187 3RTEETHIE 0.00 0 0
= 1.00 1,700, 000 1,700, 000 1,700, 000

188 SRFTERET T — 2 1ERK 0.00 0 0
= 1.00 1, 050, 000 1, 050, 000 1, 050, 000

RISEENER 0
320, 000 320, 000

RISEENER 0
320, 000 320, 000

189 R k1 L 0.00 0 0
= 1.00 320, 000 320, 000 320, 000

20
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WIER SHBEEFAEBR(CYERRK)ERIFZER)

4 [ R - BRTiE By B = B i oo ) =

EEISE 86, 930, 075
97,957,919 11,027, 844

MEIEE 12,923,000 + 30, 425, 000 43, 348, 000
20, 546, 420 + 38,513,000 59, 059, 420 15,711, 420

HBREE GDH 100,000 + 11,952,000 + 871,000 12,923, 000
3,818,420 + 15,761,000 4+ 967,000 20, 546, 420 7,623,420

HEBERZE (BL) 100, 000
3,818, 420 3,718,420

HBREE (R) 86,930,075 x 13.75% (9.82% x 1.4) 11,952, 000
97,957,919 x 16.09% 15,761, 000 3,809, 000

ReRnyEs 86,285,875 x 1.01% 871, 000
97,722,919 x 0.99% 967, 000 96, 000

Regng 99,853,075 x 30.47% (25.15% x 1.2 + 0.29%) 30, 425, 000
118,504,339 x 32.50% 38,513, 000 8, 088, 000

TER 86,930,075 + 43, 348, 000 130, 278, 075
97,957,919 + 59, 059, 420 157,017, 339 26,739, 264

—REBEES 130,278,075 x 14.95% (14.95% x 1.00) — 6,758 19, 469, 814
157,017,339 x 14.50% (14.50% x 1.00) — 6, 964 22, 760, 550 3,290, 736

LRI E

130,278,075 x 0. 04% 52,111

e ik 130, 278,075 + 19,469, 814 + 52,111 149, 800, 000
157,017,339 + 22,760,550 + 52, 111 179, 830, 000 30, 030, 000

HEREFHELE 149, 800,000 x 10. 00% 14, 980, 000
179,830,000 x 10.00% 17, 983, 000 3,003, 000

FRISH 149, 800,000 + 14, 980, 000 164, 780, 000
179, 830,000 + 17,983, 000 197, 813, 000 33,033, 000

R FE8E TR LZEEH




Rifiz -/ \v7r—o

SHBEEFRHEBR(EYEBMR)ERTHEEZEE)

&5 1
&% EAIC1) A—Thy b Tm3%Y
2 b g - BIRTE By = it ® W = " =
fEEIC1) F—Trhv b
m3 1.000 307. 4 307.4
& Hi 1E%HEH : 1.00m 3 307. 4 307.4
&5 .2
&% EEI(2) At Tm3%Y
2 b g - BIRTE By = it ® W E " =
fiEEl(2) Rl
m3 1.000 946. 8 946. 8
& Hi 1E%HEH : 1.00m 3 946. 8 946. 8
&5 : 132
&% EBAI(3) A—Thv b Tm3%Y
2 b g - BIRTE By = it ® W E " =
#EHEI(3) F—Trhv b
m3 1.000 1, 643 1,643
& Hi 1E%HEH : 1.00m 3 1, 643 1,643




Rifiz -/ \v7r—o

SHBEEFRHEBR(EYEBMR)ERTHEEZEE)

&5 : 133
£ FF . BRROBER IRRED)
£ b g - BIRTE By = it ® # " =
TAR—ARHEER
A 0.275 22,800. 00 6,270
SKETI
A 0. 550 31, 000. 00 17, 050
LEEXS
A 0. 550 16, 700. 00 9,185
ERROBERE A — BN D R4 T IMNLERA
k g 33. 600 850. 00 28, 560
Ewv b 40
& 0.172 7,070. 00 1,216
Oy K H22
ZN 0. 069 6, 940. 00 478
B 1. 28
L 12. 300 117.00 1,439
arv L yHigy 5m3/min  HExt2Rk
B 0.275 5,930.00 1,630
S BHkiEN N2 K R )L20keg
B 0.275 879. 00 241
& Hi 1YE%HES - 1.00m3 66, 069. 00 66, 069
&5 134
B BAW-R) AR Im3%Y
£ b g - BIRTE By = it ® # " =
A O-27) R
m3 1.000 246. 4 246. 4
& Hi EZ%EEH : 1.00m 3 246. 4 246. 4
53
£ BRIKELE (1) 2.5mkil Tm3Ly
£ b g - BIRTE By = it ® # " =
BERREL (1) 2. bmKii
m3 1.000 4,537 4,537
& Hi EZ%8EH - 1.00m 3 4,537 4,537




Rifiz -/ \v7r—o

SHBEEFRHEBR(EYEBMR)ERTHEEZEE)

F5 .5
&% BREKEL (3) 4.0mblkE Tm3%y
2 b g - BIRTE BT = B O ® # " =
BEKREL (3) 4.0milE
m3 1.000 296. 3 296. 3
& Hi 1E%HEH : 1.00m 3 296. 3 296. 3
ES .6
B BIAREL (1) 2.5m=RKiE Tm3%HY
2 b g - BIRTE BT = B O ® # " =
BIREL (1) 2.5m*kiE
m3 1.000 4,463 4,463
& &t {EZHEH : 1.00m 3 4, 463 4, 463
5.8
Z% : tFt Tm3HyY
2 b g - BIRTE BT = B O ® # " =
TR+
m3 1.000 4,463 4,463
& H EZ%EEH : 1.00m 3 4, 463 4, 463
=:9
2% TREER HRNER Tm3HyY
2 b g - BIRTE BT = B Ol ® # " =
TREER B NERR
m3 1.00 343 343
& B 1E%HEH : 1.00m 3 343 343




Rifiz -/ \v7r—o

SHBEEFRHEBR(EYEBMR)ERTHEEZEE)

=:10
£F5  REER Tm2%Y
2 b g - BIRTE By o = B 4 ) # " =
SEEER
m2 1.000 718.2 718.2
& i 1E%HEH : 1.00m 2 718.2 718.2
=11
£F5  REER Tm23%Y
2 b g - BIRTE By H = B 4 ) # " =
SEEER
m2 1. 000 366. 1 366. 1
& i 1E%HEH : 1.00m 2 366. 1 366. 1
&5 .12
&% TREER MEIER~0EER Tm3%Y
2 b g - BIRTE By H = B 4 ) # " =
TR E 1 T & Fr ~ IR RS
m3 1.00 2,006 2,006
& Hi {EZ%BEHN - 1.00m 3 2,006 2,006
5 :13
& Bih RIZAhTONE Tm3%Y
2 b g - BIRTE By #H = B 4 ) # " =
i RIZAhthTONE
m3 1. 000 115.5 115.5
& i {EZ%BEHN - 1.00m 3 115.5 115.5




Rifiz -/ \v7r—o

SHBEEFRHEBR(EYEBMR)ERTHEEZEE)

&5 : 135
L% tHE Tm3%Y
2 b g - BIRTE By = B O ® # " =
THE
m3 1.000 2,800 2,800
& B 1E%HEH : 1.00m 3 2,800 2,800
&S 14
&% . BT Tm2%yY
2 b g - BIRTE By = B O ® # " =
EEI (B E2cm
m2 1.000 1,812.00 1,812
HHE (F50)
= 1.000 1,812.00 0
& Hi 1E%HEH : 1.00m 2 1,812.00 1,812
&5 .15
&% BEEA Tm2%Y
2 b g - BIRTE By = B O ® # " =
RET BFEA
m2 1.000 236. 40 236
HHE (F50)
= 1.000 236. 00 0
& Hi 1E%HEH : 1.00m 2 236. 00 236




Rifiz -/ \v7r—o

SHBEEFRHEBR(EYEBMR)ERTHEEZEE)

&5 11
ZF o avh-MTERT 18-8-40 (E4F) W/C=#EE 74 L t =10cm 100m2%Y
2 b g - BIRTE By = it ® # " =
HEER
A 1.000 22,800. 00 22,800
LEEXS
A 2.900 16, 700. 00 48, 430
LT4—2HXbavs)—+k 18-8-40 (B%F) W/C=fgE7% L
m3 12.100 11, 000. 00 133, 100
EME (E+FEHH)
% 0.200 71, 230.00 70
& Hi 1EZ8EH : 100. 00m 2 2.044.00 204, 400
&5 :18
M BET 100m2%4Y)
2 b g - BIRTE By = it ® # " =
HEER
A 0. 090 22,800. 00 2,052
LEEXS
A 0.310 16, 700. 00 5 177
EME (E+FEHH)
% 2.000 7,229.00 144
& Hi 1E%HEH : 100.00m 2 73.00 1,373
&5 :136
ZFA))-MTERT 18-8-40 (B4F) W/C=#gE 7% L t =bem 100m2%Y
2 b g - BIRTE By = it ® # " =
HEER
A 1.000 22,800. 00 22,800
LEEXS
A 2.900 16, 700. 00 48, 430
garyy—+ 18—8—40 =
m3 6. 050 11, 000. 00 66, 550
EME (E+FEHH)
% 0. 200 71, 230. 00 120
& Hi YEZERES : 100.00m 2 1,379.00 137,900




Rifiz -/ \v7r—o

SHBEEFRHEBR(EYEBMR)ERTHEEZEE)

&5 137
M BET 100m2%Y
2 b g - BIRTE By = it ® # " =
HEER
A 0.090 22,800. 00 2,052
LEEXS
A 0.310 16, 700. 00 5 177
EME (E+FEHH)
% 2.000 7,229.00 144
& Hi YEZERES : 100.00m 2 73.00 1,373
E5:2
& 25 E A kR Tm3%Y
2 b g - BIRTE By = it ® # " =
25 & hA fEEE
m3 1.000 33, 840 33, 840
& Hi 1E%HEH : 1.00m 3 33, 840 33, 840
&5 21
& 35 EAAXER Tm3%Y
2 b g - BIRTE By = it ® # " =
35 E hA fEEE
m3 1.000 38,610 38,610
& Hi 1E%HEH : 1.00m 3 38,610 38,610
= :138
&% avh)-+ 18-8-40(EtF) W/C=60%LLTF Tm3¥y
2 b g - BIRTE By = it ® # " =
avhy- 18-8-40 (51F) W/C=60%LLT
m3 1.000 22,200 22,200
& B 1E%HEH : 1.00m 3 22,200 22,200




Rifiz -/ \v7r—o

SHBEEFRHEBR(EYEBMR)ERTHEEZEE)

&5 : 139
2 B Tm234yY
2 b g - BIRTE By = B ® # " =
Bl pe
m2 1.000 947 6, 947
= H YEEREN :1.00m 2 947 6, 947
&S .26
£ BRIEY  /MRE Tm3HyY
2 b g - BIRTE By = B ® # " =
KiEY MRS
m3 1.000 ,819 1,819
& B 1E%HEH : 1.00m 3 ,819 1,819
&5 .27
2% BRL /MRE Tm3HyY
2 b g - BIRTE By = B ® # " =
HRL MRS
m3 1.000 ,973 2,973
& B 1E%HEH : 1.00m 3 ,973 2,973
&5 .28
2% TREER MIBER~0EER Tm3HyY
2 b g - BIRTE By = B ® # " =
TR E 1 T & Fr ~ IR RS
m3 1.00 , 863 2,863
& Hi 1E%HEH : 1.00m 3 , 863 2,863




Rifiz -/ \v7r—o

SHEEFAER(EYEHK)ERIE(ER)

5 :29
& Bih RIZAhhTONE Tm3%KY
2 b g - BIRTE By = B 4 ] # " =
ith RIZAhthTONE
m3 1.000 115.5 115.5
& B 1E%HEH : 1.00m 3 115.5 115.5
&5 :32
&% . HSEEERI 1v)  180/230 x 250 x 600 Tm&y
2 b g - BIRTE By = B 4 ] # " =
SEERERT 0y 180,/230 x 250 x 600
m 1.000 4,512 4,512
& Hi fEZ8EH : 1.00m 4,512 4,512
&5 :33
2 EERAE (1) 300E (FZELR) Tm&Ey
2 b g - BIRTE By = B 4 ] # " =
TRIAE (1) 300%! (1Z#ER)
m 1.000 12,590 12,590
& Hi YEZHESN - 1.00m 12,590 12,590
&5 :34
L EERAE (2) 300 (F£KEEH) Tm&Ey
2 b g - BIRTE By = B 4 ] # " =
TRIMAE (2) 3008 (H/KEE)
m 1.000 21,010 21,010
& Hi YEZHESN - 1.00m 21,010 21,010




Rifiz -/ \v7r—o

SHEEFAER(EYEHK)ERIE(ER)

5.3
&% EETAIE (3) 300 (B)iBER) Tm%HyY
2 b g - BIRTE By = il ® % # " =
FERMAE (3) 3008 (RLIEBER)
m 1.000 22,860 22,860
& Hi YEZHESN - 1.00m 22,860 22, 860
&5 : 140
L EETEE (4) 400E! (ZHEER) Tm%HyY
2 b g - BIRTE By = il ® % # " =
TRIMAE (4) 400%! (1Z#ER)
m 1.000 15,570 15,570
& Hi YEZHESN - 1.00m 15,570 15,570
&5 141
L% EEREE (5) 400% (EKEEH) Tm%yY
2 b g - BIRTE By = il ® % # " =
ETRIMEE (5) 4008 (S/KEE)
m 1.000 24,090 24,090
& Hi YEZHESN - 1.00m 24,090 24,090
&5 : 142
& EETAIE (6) 400 (B)iBER) Tm%yY
2 b g - BIRTE By = il ® % # " =
TERMAE (6) 400%! (RLIBER)
m 1.000 26, 940 26, 940
& Hi YEZHESN - 1.00m 26, 940 26, 940
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Rifiz -/ \v7r—o

SHEEFAER(EYEHK)ERIE(ER)

&S .36
B 0 77 UHeANUEMAIE 300 x 300 10m¥% Yy
£ b L - BIRTiE BAf H = L= i & # # " =
UEIIE RS L600 300kgllT #lHE
m 10. 000 4,871.00 48,710
#HHar v )—rUR 300B 300x300x600
1& 16. 500 1,490. 00 24,585
BEIIYOY—TY RC—40
m 3 0. 600 2, 350. 00 1,410
HHE (F50)
=® 1. 000 74, 705. 00 5
& Hi 1YEZHES : 10.00m 7,471.00 74,710
B 143
&% : Zh 300 T-2 1004524 1)
£ b L - IRTiE BAf H = L= i & # # " =
BRI U—+ - HRE B 40k glT HIFIE
754 100. 000 279.00 27,900
avy)— k& HEBRR A (EEA)  300M
754 100. 000 6, 090. 00 609, 000
HHE (F50)
=® 1. 000 636, 900. 00 0
& &t %8 : 100. 00%% 6, 369. 00 636, 900

"




Rifiz -/ \v7r—o

SHEEFAER(EYEHK)ERIE(ER)

BB5 M
2% . BRBERE (5) #HEA 400 x500 10m Y
£ b L - BIRTiE BAf = B & # # " =
EHRAERE RME L2000 1000k gllT #IHE
m 10. 000 4, 686. 00 46, 860
EHRAERE HEETAR{AIE A4k 400 x 500 x 2000 (mm)
1& 5.000 13, 700. 00 68, 500
LT4—IHRbavs)—F 18-8-40(BF) W/C=60%LLT
m 3 0.417 11, 400. 00 4,753
LT4—IHRbavs)—F 18-8-40 (B%F) W/C=60%LLF
m 3 0. 460 11, 400. 00 5,244
BEIIYOY—TY RC—40
m 3 0.744 2, 350. 00 1,748
HHE (F50)
=® 1. 000 127, 105. 00 95
& &t %825 : 10.00m 12, 720. 00 127, 200
BES .43
2% BRAERE (7) HEHE 400 x700 10m Y
£ b L - BIRTiE BAf = B & # # " =
EHRAERE RME L2000 1000kgllT #IHE
m 10. 000 4, 686. 00 46, 860
EHRAERE HEETAR{IE A4k 400 x 700 x 2000 (mm)
1& 5.000 17, 100. 00 85, 500
LT4—IHRbavs)—+ 18-8-40 (B%F) W/C=60%LLF
m 3 0.417 11, 400. 00 4,753
LT4—IHRbavs)—+ 18-8-40(B%F) W/C=60%LLT
m 3 0.475 11, 400. 00 5,415
BEIIYOY—TY RC—40
m 3 0.768 2, 350. 00 1,804
HHE (F50)
=® 1. 000 144, 332. 00 68
& &t EZHEH : 10.00m 14, 440. 00 144, 400
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Rifiz -/ \v7r—o

SHEEFAER(EYEHK)ERIE(ER)

&BES . 48
£% : BRAEAE (12) #HEA  400x1200 10m Y
£ b L - BIRTiE BAf = B %5 # " =
EHRAERE RME L2000 2000k gllF #IHE
m 10. 000 6,101.00 61,010
BHHAREE HEETARMIE A4k 400 x 1200 x 2000 (mm)
1& 5. 000 36, 700. 00 183, 500
LT4—IHRbavs)—F 18-8-40(BF) W/C=60%LLT
m 3 0.416 11, 400. 00 4,742
LT4—IHRbavs)—F 18-8-40 (B%F) W/C=60%LLF
m 3 0. 490 11, 400. 00 5, 586
BEIIYOY—TY RC—40
m 3 0.793 2, 350. 00 1,863
HHE (F50)
=® 1. 000 256, 701. 00 99
& &t %825 : 10.00m 25, 680. 00 256, 800
BES 144
£% : BRAEAE (13) #HWA 400x400 10m Y
£ b L - BIRTiE BAf = B %5 # " =
EHRAERE RME L2000 1000kgllT #IHE
m 10. 000 4, 686. 00 46, 860
BHHAREE HEMTAR{AIE A4k 400 x 400 x 2000 (mm)
1& 5. 000 11, 500. 00 57, 500
LT4—IHRbavs)—+ 18-8-40 (B%F) W/C=60%LLF
m 3 1.127 11, 400. 00 12, 847
LT4—IHRbavs)—+ 18-8-40(B%F) W/C=60%LLT
m 3 0. 460 11, 400. 00 5,244
BEIIYOY—TY RC—40
m 3 0.744 2, 350. 00 1,748
HHE (F50)
=® 1. 000 124,199. 00 1
& &t %825 : 10.00m 12, 420. 00 124, 200
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Rifiz -/ \v7r—o

SHEEFAER(EYEHK)ERIE(ER)

&S :50
L EZWR (2)  avy)-+Z4004 1004 % Y
2 b g - BIRTE BT o = BHO(f ® # " =
BRavyU— k- HE RE 170k gdT Hl#E
® 100. 000 707.00 70, 700
avyy—+E HEBRR A (EEA)  400M
® 100. 000 1, 980. 00 198, 000
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